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F=madldm=—9°]E=2 =kgs2/m
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MWKS CE3 = MALTH| FLTH|
20| m cm / m m [L] [L]
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&l 2F lig g kgs?/m g [M] [FL-1T?]
A2 s s s s [T] [T]
L=axHe|
gl kegm/s? | gecm/s? kg; N [MLT-! [F]
(LA A - | kem ] i
lzgm?/s?| gem?/s? [MLZT-Z] [FL]
SE=YZ/A 2 (2ale (lzcal) (=Nm)
\ W
o212/ =8 ||kgm?/s?| gem?/s® | kgan/s o [ML2T-3] | [FLT-Y
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o= kg/ms? | g/cms® | lgy/m’® | .| [IMLAT-H [FL-2]
(=N/m?)
(3) SI &=12 4
@ SI<
JI2E2((70) © 20I1(m), 2&(kg), AlZHs), EF(A),
gostd 2 (K), 22l (mol), Z=(cd)
BRCR(20) - BH2(rad), L2 (sr)
TR XELAT7OH), JIE
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p= g = F(XSQ (1-7)

SHEM, JIH) - &=

DA S (stress)

a8 1-3 2«
(1) &=
@ CGS =<
1bar = 10° dyne/cm? = 10%® mbar = 10° N/m? = 10° Pa
1mbar = 10° Pa = 1 hPa(hecto Pascal)
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@ EZUIIY 1 ZINSTI EEZAEH(g=9.80665m/s> = 9.81m/s*)Y T LZIt 13.5951 g/cm®
F9O =0| 760 mmE LIEtW= &<

latm (atmosphere) = 760 mmHg = 1.03323 kqf/cm =at)
=101.325kPa = 1013.25mbar = 10.3323mAq

[OIR 1-1] SHRABAES BIAIL 103323 .
Imbar = mkgffcm
(1) 1003.9mbar
1.03323 9 =
=1003.9 X ——— =1.02 T =
003.9 1013.25 0 k:gf/cm (at) ‘
760
=1 I9X —— = . H
003.9 1013.25 759.99mm Hg
760 mm
(2) 700 mm Hg
1.0332 CH7 St
=700 X 103323 _ 0.962k:gf/cm2 1712, po
s N
101.325 % !
=700 X ———— = 99.33kPa
1 Toel
1 = =
= X —— = 0.920at
=700 760 0.920 atm
8 1-4 1atm
(2) A 2
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AelAY  F
CAEBE = =— X1 1-10
T=goTe P, 00 (%) (1-10)
[OlKl 1-2] EZ= UII2(760 mmH AN SHs 1zZat0| 700 mmHER N AW IBE=
2 0eID}?
(sol) ZEUheh: P,= Fy— P,=160mmHg— 7100mmHg

= 60mmHz( Torr)

aze: x— 22100 =190 100 =92.14%

P, 760
[GI& 1-3] THOI0l 1003.9 mbar 2 [f C+=29 AAS HHLACR2 L ala 2I1?
) 25 kg /cm®ol HoIx (2) 700 mmHgo! ®z=ore
(38) M2ZIt 90%
(sol)
latm="760mmHg= 1.033231@1(/ cm?=101.325kPa=1013.25mbar
1. 2
1003.9mbar = 1003.9 X 103323 =1.365at
760
1.03323
e = 99X — — .
(1) p, po"‘pg 1003.9 1013.25-1-25 26.36ata
1.03323 1.03323
=py—p, =1003.9 X =222 700 X —=2 = (),
(2) p, =py—p, =1003.9 1013.25 700 =60 0.072ata
i T Py
BEcix = —X
(3) T P 100 — P, = 100
_ _ XDy X
D,= Dy D, —DO_W —po(l_m)
1.03323 90
= Ix T (1 ——
10039 1013.25 (1 100)
=(0.102369 ata
1-10 €= HIS, HIAE
(1) 2 =(density): p
SHAMNEY S22 EE
p—% [k_q//rrLB} (1-11)
k
G ol 9y
=— =— | =lkg,s"/m"]
P gV g m/ s® m? 91
(1-11)
(2) HIZS&(specific weight) : ~
el EY 230 B
G
v= kg /m’] (1-12)
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(3)HI XM = (specific volume):
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